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Math 466 - Fall 2019 - METU
Quiz 7
Consider the following isometrieé. There are eleven of them.
o ai(z,y)=(z+k,y) for k=1,23,4. |
o Bi(z,y) = (z+k,—y) for k=1,2,3,4.

o 1(@,8) = (=2,5), 72(2,3) = (&, —y), and (2, 5) = (~3, ).

For each of the following frieze patterns, let G be the group’of isometries fixing that
pattern. —

'

1. Cross out the isometries which are not suitable:

{%’ %2 % Sy %’ Ba, % Ba, M1, Y2, 133 C G-

- 2. Determine the groups H and J. H= Lk 7

J= 2(0{\3!{{137{32

1. Cross out the isometries which are not suitable:

{K, %, % 044,%52,%%%%&%\}c61.

2. Determine the groups H and J. H — L& " -



